N — Skt ooy [=]

2.1 &R
22 A2E—3F2R1TH
23 PRIAVRAITH

*—J—F . AUE—FURTEH, FRIZL RFTF

FEEE  AROAVE—SF U RTHETRIAD XTSI
ZIRODBHZEMTEDEOIZGS,




2.1 #kER
O|iR%& F1, By, I, I THEDIT5
| Il 12 )
o—— R =0
E, L x E,

(M)

vy e T

RATHERERE B F CHER MATHERERE
JAHERMELLY (NERZEEHE JAHERMNELL

=FEL)




A E—3 X175 (Z1T75)
-1 20
TR X175 (Y4TH)
2[R
INAT1)YR4TE (HITF)
KR
X175 (F4751)

i) le o) 2]



2 2w [B] B
22 AE—ZRITHI

[E1]: Z11 Zi2| |
5 Zor Zozo| |12

Z11 = T - FHBREREI R E—F R
|11 1 7,—0
[ Fy ] o o

Lo = I—l BB ZEA L E—4F 2R
L2 11,=0

Loy = 1—12 -G EA E—F R
|11 17,—0
.

Zo= 7| BBEBBASE—SUR



CHEPEAQ)
(f%i%1)
E1=711 + Z5(1; + 1)
FEo = Zsly + Z5(11 + I5)

—
FE1 = (Z1+ Z2)11 + Z31
FEo = ZsIh + (Zy + Z3) I

=

Ly _ |41+ 22 2o
E2 ZQ ZQ + ZS

AVE—F 2 R1T5

Z, 1]

I




(fi#i%2)
i F22° W = Lo =0
FEy = (Z1+ Z2) 1
FEo = Zs514

i 11BN = 11 =0

E, = Z515
Ey = (Zy + Z3) 15

R nANYTY gAY
(=0 N L
. T <> :
Z, Q] Z5(€]
1 ‘Zz [Q] EZ
O l —O
1| IF} 2|



2 2% A B&

B
Fs |
K222 RT3 ! 2]
23 7 ~ Y12] [g;] |
[11] - [21 Yo
I

A
Z12 o
[gli 222]
V2

e hex
L memEmaTRI
N é_ - SERIEETRIA R
. :]%: - :ﬁﬂﬁ'ﬁ%{z_ﬁ%_}’lsi’)"‘/;(x
o 22_21: - RE T ATRIA
Yy — é_z L

[Zn

221

|

Z12
222

Z12
?1 229
2

|

I
15

|

N

Eq
Es

|



CHEFEAS) Lo
73 s L - O— —?
(f#R1) BT Z,[9Q] Z,[9]
-El L Zl—I-ZQ Z2 Il El ZE[Q]
_EQ N Z2 ZQ‘|'ZS I2
o
L] [Zi+2, 2o |7 [E 1 L, 2
2] L2 Zo + Z3 2
1V [ Z+Zs -7y | [Ey
Zl | —Z2  Zi+ 22 |Eo

Z| = (Zo + Z3)(Z1 + Za) — (Z2)°
= 71Ty + ZoZ3 + 737y + 75 — 73
= L14o + ZoZs + Z3Zy

A BTV 1 D -B
C Dl T AD-BC|-C A




N - . 1
] X
Ev| |21+ 22 Zo I Z, 1] Z519]
FEo| Zo Lo+ Z3| |1 b, Z, [Q] K,
k4 Z o—— l —0
I By Zo+ Z3 "1 I, 2
t Z1+ Zo Zo
2o Zo+ Zs
_ E1(Zy+ Z3) — ZsyEs _ E1(Zy+ Zs) — ZyEs
(Za + Z3)(Z1 + Z2) — (Z2)7 | Z]
Zy+ Zy Eq
I 2o Eo (Z1+ Z2)Ey — Z2E,
2 = =
1+ 2o Z9 Z|
Z9 Lo + Zs3
£2T

Ly 1 \Zy+23 —2 Er
L |Z|| =2y Zi+ 23| | B



[1]58 25 (5] 2
(BF£2) BB o—— *— R

ImF22° 5K = E2=0 Z, 9] Z51Q
B 1 ] 7, [Q] E,
I, = L -

Lo/ -—
Zl_|_ 243

Zo+Z3 O pa— 4 O
I, — Zo 1 "1 2
Zo + Z3
_ Zo 4 _ 7o E,
- Zo+ Zs Z1 + Z2ZZ33 L4y + Zods + Z32y
Yy = _i_ _ 1 B Zo + Z3

Filg,—y Z1+ % - I o+ ZoZs + Z3Z

L B 7,
_El_ Ey—=0 L1200 + Lolis + L3/

10



HF1ER = B =0 Bt .

[ o E2 Z] [Q] ZS [Q]
T Zs+ Z211—|—ZZ22 . ZF[T

A
h—__% O—— o
AR S
B Z2 E2 . ZZ
I+ Zy Z5 + ZZ11+ZZQ2 712+ ZoZs + Z3Zy
_Il | Z2
Vo= || =-
2 Lol g g L1249y + ZoZs + 237
Voo — [ IQ | _ 1 _ Zl + ZZ
27 By B0 23+ —Zzlfzz 2o+ ZoZz + 232,
&2T

L 1 \Zy+23 —2 Ey
L |Z|| —Zy Zi+ Z| | B

\Z| = Z1Zo + ZoZis + Z3Z4

11



{ %

YrJOX(ATH) DEE
-0311 12
A — a21  A22
_afml U2

IEATTH m=n

ﬂﬁ?ﬁﬁlj -CL11 0
0 a22
I 0 0
BRIATH [1 o
0 1
I 0 0

=175l

12



0 Al

3 1 0] [2 1 3] [ 342 1+1  0+3]
~1 5 2|+ 13 =1 0| =|-1+3 54(=1) 2+40]| =
1 0 3/ [0 1 2 [1+0 0+1 342
Sl O AL ©

1 5] [1772] (1+64+0 24+24+10] I 14]
303 0 1| (3 1| =1[34+04+40 6+0+2]| =13 8@
2 3 1] [0 2] 24940 4+3+2| |11 9]

LB [ LEL

R

6] |19 22
7 8 |43 50
2
4

23 34
31 46

-
4_
a7
8_

—=ND Ot
e




BriE {751
IE?ET’???'J—C Ajj = Ajj
EREDECH

il B!

FEDTEHREEITOGE

EAED-EPE P Rt
EARD -y

I I F | R I



sCEagdl

AX =B s X EZRDODAEES
B
= X = 1 THITIEZDESEEZTAHIEZLAL
-~ Y = A"'B IFELLE=H

F 4T 5
A-A =71 (BEGL{75)
HTHIMELWLWDESIIHENDBIENTES

A Bl 1 D -B
C D| ~ AD-BC|-C A

15



Ay = (-
— () .
¢
|
A21 — (_1)2—|—1
= —2

o O N | =

All
A21
Az

A12
A22
Aso

Ajs
Aas
Ass

16



2 1 1 1 -
Agy = (—1)31 Aao = (—1)213 Mw — (11343
31()02 32()02 33()00
:4 :—2 0 :0 »
| 2 1 1 ,
¢ 0 2 0 9 -
1 2 1
0 0 2/=04+0+4—-(0+0+0)=4
1 0 1
&oT,
— - —1 _ )
L2 o2 4
_1 0 i _0 9 O_

17



N — Skt ooy [=]

2.1 &R
22 A2E—3F2R1TH
23 PRIAVRAITH

*—J—F . AUE—FURTEH, FRIZL RFTF

FEEE  AROAVE—SF U RTHETRIAD XTSI
ZIRODBHZEMTEDEOIZGS,

18



